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2is {Ex] Jr EXT I:c1:!111r60T0 150
230 IF CT)$l TIiEH i{A!,ßJ):4!AI=H:nJ.Sire0!0 t200
2{O AI:AI.I)I IiJ:AJ.TJt6I]TO IAO
5OO N$ AUSEAßE
1000 0R6P!llCS 0.PoKE 752,1!5tTC0t0R 2,1"2!IETCüL0R 4, {,2r ZtrEll=IAEI*l
l0l0 F0n i=0 T0 |{I:F0n Jio T0 tlJ
1020 Ir i( l ,Jl ' l  fR t{ l , i l"2 Ti lEi l  Cil .32

BrI),8{14(l)rMn$0 Brr-I2),Dll- )

Bll),8{lr+(l) rmAST0 0{l-X2},!l l+li l)

n{l},0{I+K!):DnAUT0 Du-(?),Dil-(l l

0l1) ,01I +{ l ) !fnA$T0 Dl!-12),l l  l+lt l )

1050 Ir I I I 'Jl=3 If iE [f i=lö0
1040 lf frtl,J)=0 l}iEli Cl=?11
1050 IF B{t,Jl=4 ]l.l[ Cfl=197
1060 lF AI"l AHD Ai'J THEII Clt.42
1070 P051Tl0$ t+(19-( t /2)),J+{t2-tf iJ/?}):pntüT c{R3{Clt) irmxl Jrmtrr I !nETün[
l?00 fE=AlrFl-Ai:nl=l T(f i f l01C)*3)+trnD=lNTlnul0)+l+2)rC0ll A{t l), ! l l l l ,C(l l) ,DIt l l

X1210 l(0=0!Kl.lr(?"(t4Il:K:{2+nj(4:(?+fi2rK5:Ur(3!X6={"J+K3r(7=(6rnr{8:K4+i(4rfi't({+*s!(10'N5+(::nl:n0r(t
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1230 cl l)" (n0+K6Jrf l0)"t*nl- tc(!*(1):Aürt0): l){t}:c0):!ü+n}:s[+Kt]r{eyT t:60su8 500
130ü IF Z{tllt=R} Tlgü lF SIRI6{K0):X0 TIlEll F0SUB 500
lJ20 sl:slic(t{0)rtF sT.nl+({ THEl,t t3{0
1330 It 51.(3+X1t TBfli AA={0!S0T0 1400
1340 IF Sl=fi1l T}|B| nZ"Al-{l!AAF(l!60$tB 9${0:80T0 1400
lI50 IF 9T=X7 THat AZ:AZ+(trAA:k1r6flSUt 9000:S010 1t00
1360 8010 1300
1404 S0lll{0 (0, !3t,Ke,{l0rGBT0 A?+(10+1410
t4l0 P0N=KI;ptY"KotLl={0rL?:-(1r60T0 1450
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l{70 50UND (a,NS,K0,K0IXp:AITTP:AJIFün I.K2 T0 (10 STIP n
lr$0 IF fi(XF+LlrYP+L2l:(3 lllEll G0gJr 3040iC0T[ 15{0
1490 IF tt{xp+Ll,yF+L2)i)x3 i{4t 60su8 4000
1:n0 IF il{XP-Lt,tp-12)={5 IHE}I 08SU! 5000:80T0 t5?ü
i5l0 IF n{xp-Ll,yp-12){)r"J lrifti 60süt 6000
1524 60SUB 9800r1F irx!*p0x,yp+p[y):(5 lHEx 70s0
1530 xP=xP+P0x!yp=yp.rplystifüT I!t=(10:tilT8 7000
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3010 ReTUnt
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6010 ftllunll
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7010 if tC"(2 Atl! C[.(3 TtlE ]500
70?0 E0t0 1300
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1 REü r| oßE[tiDE, FtnltcE tVLIMti ,+
5 !t5. 10 6n#tr*i l0
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17 Port 705,13ß
20 t0ft AtiF180 TA 3öOrtg6 5rr, ,
lü )("g+Oiimstfi6)
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50 [0t-0n (Affi-180] /45+lrpt-0T )(,I
60 Inll1o L80+l
70 col88 orPult x,Y
90 i T At6
120 Fm A$"180 T0 J&0+lg0 STtp 6
130 x:26+8*C0Sß{0t
t$ y:t6+B+Sm({ t}
150 co-Bn 9-tAfi6_ß0) /4trpr0T t,y
160 ltßAITo x, t00+Y
170 c0[0n 0rFL0T ){, y
190 {En AX6
220 F0R Atß:lI0 T0 t60+100 STEP 6
2IS X=4{+gi[0Sltt{6J
240 y=t6+8*5Iti{#t6}
250 C0t0R iiti6-180)/45+lrplor )l,v
?60 0nMT0 x,l?{+Y
270 C0108 0!Pt-01 x,Y
?90 TETT A16
lm F!* ßtS:100 T0 i60+t80 ST[p 6
330 I:62+Bit0S (Aml
340 YlI6+8*SitttAlg)
350 C0L0R 9_{its_180t /{5rpttlT },y
t60 0nflT0 t,ltory
I70 C0L0n oTPLBI J(,Y
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450  ttoft {Ail6_t00}/15+i:pt0l )t, y
{60 bR69t0 x,t{o{Y
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100 n& ,**,!r.5 U p E R0 E [ 0 *r*l l t . t
r{0 0l i  f l}Ptt{t28),!0Tlt028l
t50 DIH T0Pt { 128 ),80It {128}
160 0In c0li(255)
190 S0€U0 550
210 609ltD 800
230 60SIJB 100ü0
260 ST=PEE|({5ü0)f ?56rptE((i6t I
270 PtrE ST, t 12{128
280 P0lG STrl, t3+/,t+128
2t{ Foi Y:6 T0 6+96 STEP 2
3m Po{E glrY,ll+t20
J10 tt)(l Y
3*0 Fm R0T.0 T0 300 SIEP 2
3S $Nny4
310 80T$:C0Ltit,lzi)
J70 T0fs.t0t!02s,2501
390 TüPl$.T0pt{1,120}
{m T0Pt=ItJpt ( Ul, l2i I
410 IEPä(6,=TBpl$
{20 llPt{5,5).Cilnf tn0T)
426 fF R0T)255 THEfi To?$(i,S)=Ctfir{0}
440 toTl$"BBlt{t, i)
{50 l0l6=00tt{6)
{60 lDTl (121),B0Tl0
400 X0L$(L IZS)=0!Tt
4fD C|lIl(26).]0pr
500 N[xT R01
510 6010 340
5:n $nAPüICS 2t!086 : SEIC|ILBR 2,4, 10r Dln c I J)
560 SETC0!|]I ü,0,10
570 5nC[10ß L(,6
580 STTl:tjL0R 2,0,t
5t0 e.20r[0t08 trC=l
60c X0=79tY0=t7
610 FoR t{=0 T0 3rCtK),(+112:,/txr K
620 F0R |(=t T0 j
430 ;i-i(o+R*t0fl 1Ä0) :v=ro!pLoT t,v
ö{0 Fl,n I.0 T0 ir,ii0 STEp 75
650 I'X0+n*t0stI} | y:Y0+RrSiuil)
660 Dm$r0 x,Y
670 llfxT lrn:fiil?:t:ü+t r0ü10!t C
610 il0tT (

X690 ro--1
700 Fon L00P=t T0 S0

;710 c0L0n 18
1( 720 Xl=lNT(l Dl0,rlggt+l
{ 730 Yg:IllTIR |}{0}*47} }I
.r 7{0 PLoT X8,Y0.r 750 ZS=18+l:It 28.4 TttlH Z8.l
760 liExT r00P
770 nETUnll
8{0 fI]A T=l T0 2JS SiEp i
810 [0Ls (T.T)=CttRflT]
820 Il=Ti80
830 T2=l+t60
Sl0 lF TlX55 THEfl Tt=Tl-ZS6
8:, If l2)25i Tt!$ It=T2-2lt
860 C0L$iIr l ,  T+!)=t f t f{T1l
070 C0Ll(Ir2,t+?)'Ciln T2l
BEo CoL*(I+4, T+4J {finfl0)
900 sfn T
910 BfTU*lt

10060 t!l! P&t (ü0)
rüü0 REAI) X
10120 lF X:2t5 IHEX l0U0
10130 Pftt{LEülmt}rl):CfiRt{l(t
r0r40 6010 l0lt0
10180 0AtA 72, I:t8,72, l5?,72
10190 t4T0 162,0, t 7t, 1t,212,201,07,2t0,3
10200 0{tA 17t,01,02
10205 IATA 111, t0,212
10210 0AIA 160,0
10720 DATA 18?,03,01
102J0 tilTA 153,22,20S
10?10 rlAlA 232, ?00, 192,5,208,2{.1
10250 0uA ,12,0t,06
10260 MTA 101, r6s,10t,r70,t0{,64
l(r270 I}ATA 00,01,02,03,0{,0S
10200 DATA 255
10320 P.A0n{Pm)
l0ß0 PHI=lJlTtp/256)
10340 Pl-0=lp-PHIr?56,
103ü0 F{Dflic0t$)
10370 cHI:l I(C/256)
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1c430 Pnt(?5,25)=$nfl UIt
104i0 Pxtll =l*T I lp++.t) /tS6 )
10190 P)l!&IP{4)-tp U.r2S6}
10{9C PSt(16, t6):lfinitpxr0]
10600 Pfi6 ( 17, t 7):Cfi{! tpxtI }
l05l0 tRS{36,56)=0fi t{pxlo,
10620 PRI {W, 37}:C}frt (p)tHl J
10560 P0|(E 5t2,pt-0
106]0 PoKE 5t',Ptir
10610 mru 5{286,128{6{
10650 RETUil
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I n$l rt*4 cntslßt . rr**
2 nEl rr AßtllEUER MSI8 rr
4 6nnPü)CS 0:P0l{E 710,0rF$E n2,lrP0stTI}t l3,t0r? .Pl.ise räitri
5 C0lr cHAi||1000)
6 CHARI='Altlltt6HIil{.lt{lF0nSTüWIYI123.{567890t=+l!^:t/.
l0 CHSET:(lEE|({1061-8},r2t6tC[0n6:57314
11 0llslJl 15:60T0 ?0
l5 S{lllllD 0,4,0,10t60u11 0,0,0,0:nE Rti
20 F{]R l=1 l0 lo??rP0K cHslT+ LPE[( ( dtmEll ) ! tigltT l.00sllg 15
25 FB8 I:l 10 LE8(eilAR$)
30 C||püs=n6EIr lAStlC{mc(l ) i -32)*8
31 60sur It
35 F|lR J=0 10 7
40 Gosw l5!ntAl) ArP0K cIPos+J,A
45 ilE{T J!60S|J! |5:||EXI l
l9 GnAPHICS 2+16!CHSET=IFEE({106)-S,125ü
50 p0r[ Ts,cltstl/256
60 6010 1000
l6 DAIA 0,126,1?6, t02,t26,126, t02,0
l l0 IATA {,, t2t,98, t2{, t0r, 102, 126,0
120 lsTA 0,!2t,,10,9ö,96,110,126,0

.- 150 IIATA 0,120,100,98,98,100,120,0
140 0AIr 0,,25, 102,112,112,10?,126,0
r30 0ATA 0, t2Ä,12ü,96, 120, 120,96,0
la{, 0ATn 0, 126,96, 110, 102, 12ü, l2&,0
170 0AIA 0,231, 10?, 126, 126, 102,231,0
180 0ATA 0, 126,d0,60,60,Ä0, 126,0
1r0 0ATt 0,1t,6,6,102,126,126,0
200 0ATA 0, 102,124,I12, i12,12t,102,0
210 0nTA 0,2q0,112,1t2,114,l?ü,t26,0
220 0ArA 0,12r,126,116, t0?, t02,102,0
230 nAT4 0,102,it0,I10,lt0,102,9ß,0
24$ !ATt 0,12S,126,102,t02,126,1!6,0
250 IIATA 0, 12t, 102, 126, 126,9r,96,0
260 tAT{ 0,126,t02,98,106,100,,12,0
2i0 D$TA 0, r26,98,126,l?6,l0B,1t0,0
21t0 I)ßTn 0,!2t,96,l2ü,2,126,I2t,0
290 0AIA n, t2b,12b, t28,24,24,24,0
300 0ATA 0,102,102,10t,102,t26,126,0
l l0 IATA 0,231, 102, 102, 102,60,24,0

* 320 IATd 0,102,102,6ü,126,102,16,0
J30 IATA 0, 102, 101, 102,Ä0, 102, t02,0
140 oATi 0, 102,102, 102, t26,24,2t,0
350 DATA 0,12A,l?6,102,14,24,1t1,126
360 IAIA 0,62,28,It,  12, 12,28,6?
370 0ATA 0, l2ü,70, 12,2{,{8, 125,{
3m rlAr, 0, t2a,70" t2, 2r,12,70, t26
390 DATA 0,66,6Ä, ß3,126,2,2,2
4tr0 DATi 0, 1t&,64, 112,56, i4,2, 126
410 0tTA 0,0, t?ß,a{, i2t,66,6ü,126
4r0 IATA 0, r2r, ir,21,9ü,9i,64, ü+
{30 IATA 0,126,66,r02,60,102,Aö,126
{rs 0nTt 0,126,Äa, t?ö,Ä,12,24,18
450 0ATA 0, 12b,66, 90,90,66, 126,0
4m 0ATd 0,0, ?t,24,i),2t,t4,0
470 IIATA 0,0, 126, 126,0, 126, 126,0
480 IAIA 0,24,2.1, 126, 126,2t,2t,0
{90 DAIA 51,0,1?6,102,102,t26,126,0
5m IIATA O, 125,,t0,A0, ,0,2{,0
510 0ATA 28,28,20, 6,6?,8,61,99
520 0AT{ ?4,60,,t6,60,3t,1?6"6ö, 12ü
530 0ATA 0,12&,At,dt,ü*,66, t2Ä,0
540 oi l lA t54, t70, 170, 170, 170, 170,170, 254
i000 P0l{E 709'?6i? lä' i 'crtstal ol rororah"rPRt 710116'15+E
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1092 foR l{ I0 R/3rü'tdTift  0t0}r17}+lrJ"J T(Rmi0}*181}3rm5lTlul l  6,Jr ' l  *ai"t 'r t{Efi  I :60T0 l0t6
tü95 PisITI0!l  0"23!? t&t,scflRE "iPrRElün[
l0t6 60suB 1097iD0TB 1099
1097 6[Su8 90{J0
1099 P0$lTl0il X,yr? $6i[]iRit|lilAJt)
1100 8El{ uc r üE5 tf,c$EH
ll05 lLi:P!EX(710): lF 8LI)122 THFI{ 8LI. l12
l l0ö nl l=rl l+l:PüliE 710,BLl
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2m Soijts0 0,0,0,0rC0Lm 0ip!0l ul{/9,I2-ull/t5!6010 20011)00 0ATA 0,0,0"0,0,0,0,0
t00t mTA 2!6,€1,  5,214, u6, J0,3t,1{
1002 IATA 40, t{6, 146,?14,25{, 1?4,St, 16
1003 !A1A tro,170,l?0,170,170, t70,170, t70
1001 0ATA 0,2, !0, t2,t2,170,170,170
1005 tä?A 0,120.160, i6t,168, t70,170,170
l0l0 0ATA t7, I9,151,2?2,r0, l l?, 1ö, l6
r0tt r{lA 25J,255.255,255,255,255,255,?55

40 p0RE 87,{
100 t[s]JB 303t0
ll0 GRÄPfiltS ltp0K
120 P0{t 75?,1

l0l0 0ATA 9&,t02,100,t14,1i,8, 4,1?r,t26,96,102,100,1rN,108, 1,12t,t28t0i0 l ldlA 96,r02,lOB,it4,t2l,t?t,t36,$4,tSJ,l,t4,tI6,ti€,t?l, lta,l00,toz
1080 IATS t6, 102, t08,114,t21,fl ,rö,102,96,102,t08,üt,121,114,108,102
 00 IelA 16,10?"!08,1t.t,1' l,9t,96,r0?,96,1{2,to8,l l{,t21,, ,108,toxll20 D*TA t6,102,108, ltt,108,l14,t?r,128,121,1t4,t08, 102,9Ä,91,96,102 r0 0AT* ?6,102,108,rr4,108,1t4,121,ln,t?t,  4,10€,102,96,8J,81,16
l160 I}ATi 7?,7r,8i,8s,9!,69,72,?6,?2,7t,81,85,91,85,81,76
llm DATA 72,76,8r,85,91,M,7?,76,7?,76,81,85,91,S,81,?6
1200 üATA 72,76,8!,85,8',85,91,t&,?r,85,91,7r,72,68,72,76
r20 IIA]A 7?,76,f,I,05,91,96,t02,96,91,8i,8!,76,72,68,7?,76
1210 DßTA 12,14,r,!4{,144,1{{, l t{, !{, t ,14{,136,rsj, l t6, l t j ,136,t53,l3t, lr j
r?r0 !)AlA t4{,144,11E,r4{,1{t,114,14.r,1{4,116,153,136,trJ,t3[,15:,,156,153
1280 IATA l4t,!36,144,153,14{,13ä,114,1S,1{t,!3ü,ü{,t$d,r{{,13&rr41,rs
lJ00 Mli l  144,136,128,r21,1' l , l?r,12s,n6,14t,1t6,t20,t21,1r1,r08,10!,96
1320 IATA 108,108,106,108,108,109,t0r,10ß,t02,1tr,102, 1,102,1!{,102,i l |
l3|0 DAIA t08,t08,r08,!@,t08,108,r00,108,t02,t,4,!02,1,4,102,114,r02,,14
1360 I}ATA r00,102,1{)f, ,11{,108,t02,108,!n,108,102,100,11{,108,102,!08,t l1
ls4 IATA 108,102,9&,tr,65,f l  , !6,102, 108,10?,?6191,t5,81,7&,12
$00 ,ATA 5t,57"60,6{,&8,50,53,57,53,57,60,6t,68,Ät,60,57
1420 !A1{ s3,57,60,64,60,61,68,72,65,61,60,57,Ä0,5,r,53,50
${0 IATA 47,50,53,57,5t,57,60r6t,60,6t,68,?n,76,8!,8r,91
1460 DA]A 96,9t,96,!02,96,91,9{rr0?,t6,91,96,102,96,9t,96,tö2
l{80 DrlT0 96,91,96, 102,96,91,96,102,96,91,96,102,96,91,96,102
1500 DATA 47,t7,47,47,17 " +1, 80,60,12,12,9119Ln 72, ä0,60
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1520 IATA 17,17,47,47,t7"61,60, 6X,12,12,91'91'12,72' 60' bA
t5{0 lAl i  47,17,47,47,{7,47,17,47,17,11,47'41'q,q7,41 "41
1560 I}A1A 96,96,9r,96,96,91,8t,81,7&,72,Ä8,61'60'5?,53'51
1180 MTÄ 17,50,55,57,60,r5,4?,50,47,S0,53,57,ü0,57,53'50
1600 MTA tt,50,53,17,60,t5,{7,50'{7,$0't3'57'60'57't3'50
ruo IIA1A 47,5d"53,5?,5t,3r,60,6{'60,J?,5:,51}'17,45,17,50
la40 !aiA t7,50,t3,57,53,s7,60,68'6{'57'53'50,47,itz,40,37
t6&0 0ATA 15,31,40,42,i5,S,33,37,3i,37'40'42' i5,{2'40'17
1680 DATA 33,37,{0,42,{i ,33,35,37,35,37,{0,42,45,{2,10,37
1700 l$TA 35,37,40,t2,40,12,15,{7,{5,{2,40,17,33'S'15,37
l7?& 'ATA 3i,37,40,{2,{7,r i ,4?,40,st '35,33,31,n,27,25'2{
17{0 DtTn 23, ?t,25,2i,29,2t,23,24,23,21',21,2i,29 "21,25,24'ü rnfrTA 2r,24,2s,27,29 ,21,23,21,23,24,2!,27 '29 '27 '25,24
}/do 0AlA 85,91,76,72,40,64,[0,57,53,57,60,6ö,6s,72
t800 DATS 7ü,7?,68,6{,Ä6,57,sr,50,47,{t '{7,50,4?'45,1?'50
1820 !r 'rA 17,ß1,73,72,Ä8,64,ü0,57,33,51,60,64,60,64,6t,72
l8{0 IATA ?6,72,68,64,*0,57,5],50,it ,45,47'50,t7'12.10,37
l8Ä0 0AlA 35,37,40,42,40,4?,45,47,45,17,50,5J,5?,60,61,68
l$?0 DSTA t2,16,Bl '05'81,€1,l?i,91,,91're'10f,104'1l l '121,128,156
1900 0A1A 144'l16'144'153'144,t36,1!{,!13' l ' t t '13Ä,l l{ ' l i&l4{,121' l l l '108
19?0 DATA 96,91,96,10?,96,91,96,t02"96,91,96,t02,96,85,St'7ä
1940 IATA 7?,81"8t,Cl,96,10?,t0t,111, l?l, l2B, 136,1$, lr4, l l t ' l2s,l2l
l9ö0 DATA l!r, i08,102,9,!"91,85,St,7&,72,68,6i,Ä0,5?,31,50,17
1980 0r1A t5,35,35,35,t5,t5,35,15,7?,7?,72,72,96,96,96,94
t9!9t s0u*t 0,14*,t0,8t[010n llPlor 15,7sffi5108€ rF0R 2=l TC
?0000 FBR l=l T0 lo0riill? 1:68T0 ll0
10200 68APtltcS 0rsETxul(ln ?,8,4r5n LGR {,8,1!il!4{E({i{0)}PEE((561,{236f4rpo[E !$-i'70!FolG uB+z,7:l0KE Uß+3'7
30210 roR uz.a r0 8rPß{t us+ut,6.s[xT u?:PB(€ ß]n,65gF0KE IJB+23,'E€|(1S60]!F0K Itd]2l,PEE({551):Stlcouln 3'3'0
302?0 srlcot-0R 1,5,0: nfiun
30300 P0(€ lt5,pff({106}-SrntlmN
3tß10 UC=fi6!{PEEK{1S6)+t)rr[R UZ={ T0 t0?3:P0lC tE*Ut ' PEEX (5I344{!t ) t flEXT U,
30320 PB(t 756,llC/236rF0R üI.512 I0 559rn[AD ÜY:PIRE t[+ljllJy!fi8$ UI
303:0 f8n U2.944 T0 tX9:RtAD UYrtl{E tlC+UZ'UYrll0{l tI:REILR$

6{!REA0 )t!l€i{I lrnAP t9949r$lllllD 0,0'0'0

\

il



) a ,  t-,{, tr '
2
l0 REll *r&r 60tnffAjsctl :rr{4
130 0A1n 5ü,56,16,t6,8r, tü,40,68
$0 0ATA U0,S5,170,85, 170,85, 170,85
150 DATA 0,2t,ü0, l t0, l !6,62,28,0
160 0ArA 129,6{,1J6,?4,2t,36,S6, 129
170 0ATA 1?8,6{,32,16,r,t ,2,I
rm DITA r,2,r,8,16,32,ä4,120
190 rlAT6 !4,16,124,16,1ü,l&,5&,12+
200 0llt ct{t*i {8), s{i qfl5, ?}
210 CfiAnt:'*r-:{X!rfi lflfi:s
220 cR4PHics Irta,sftcoloR {, 6, 4: sET[0t 0R 0, t, lolsElco-m 3, 4, l0
230 ? 16r '60tDRtUSti | " I SETCütofl 2,3,0
2{4 PIISITIBII 2,5j? lA; 'bit l€ ,&t!o'
?{5 F0R U:l T0 l00orllEJ{T Z
250 Cfi 5gT={PtE( |l06'-8){256:[fi In6d73tl
260 !F pEEnüiSET+9)()0 TtGfr 340
270 t|lR I=0 I0 SllrPSK CitsET|t,PCt((CilmEllltKXI I
280 Fllt I=l 10 7
290 C IiP0S.CIISET+ {ASC { C1lßRt ( I ) l-l2l *8
500 tof, J=0 10 ?
3IO SEA! A:PO{g C}FBE+J,A
320 ltfir JiNExl I
330 F0R l=32 Iß 39rp0rc Cß€T11,256-PtEN(Cg]ßFrt):lSi(I I
340 P0l{E 756, t}t5Er/256
150 P05ITI0R 0,0s? 16;' t !E !5
360 Hü66EIS=0
370 toR I.l T0 22:F0n J.0 T0 ll

It29_,

400 ilexT JrHt)ii I
,10 tlltfitt':10:P05l1l0t I'Er? l6i' lCmßEm i't üllfiE[g;
q20 )1P0S=II rlP0S:orE F=0!G0T[ 590
43{ [Ed HAIJPTSIHITI TE
440 ST:5TI[((0) !Ift:STnlg{0}

380 If iNolol)0,+ TfiE* $[m mClO$R (2)lr l28tPloT,l, l t€l lT0 100
190 IF I>5 Tlig$ CtL0n A$C{ünmt3)llpt0r J$lriu8ffrs'|lß6El5.l

Y--r'

450 iF PfEr2ot)15 l tlt PU$ 709,  ilr { l6rmD { ü) ) 116+10} !PtX! ?0,0
160 IF EfrF 1il8{ S{luliü 1,T,10,8!l.Ir{T(B)}?rTl:llilrlt Tt)20{ nm S0Utl l'0,0,0168T0
{70 lF 1-Tft TllElt lF EF:o INE$ 020
480 IF Sl:15 r €t l{0
4q'0 9=-{5T=111*lYm$)o}{{ST.tJl*(YP0$(?2)
500 fi.-(5I:i1)ti!{PBS)0)*(ST=7),|{IPCS(t9)
510 t0l0n 32:Pt()T t?o$,YPtß
520 l{P0S=XP09{ilr YP0€=YP0S+V
534 t.0[ATr IP|S, YPüS, Nt{rT
540 IF l4+lAI:32 THtfl 590
5* rt $NAr.{süxHAn6(3)) T|lEt 006U8 Sa0!t0T0 5t0
560 IF HHA':ASJ(CHA8JIT)J TllEll 605{18 7&0160T0 590
5?0 IF U AI:4 THEiI 60SUl 670!lEli CASli l|ll
5S !01,i{l} 0,100,1?.8tF0R Fl r0 ?stüEn gs{rut! 0,0,0,0!i{ms'Ptt5{l|tmFn0$V!H)|.0n ll&not $lF'lP0St60T0 ll0
5?0 [0t0R lJSrPt0i xpüs,lPoB
500 rF ElrF sflD rP09"0 THE{ EHF--{!ü}-0n 32rpl0l }P|F,!P0S!SN[D 1,0,0,0rc0n ll0
610 Fon [=0 T0 0 STUP -ltsolJ,lD 0,[,!5,12,1!ll€XI n \*6m coTo 440 \ rlÄ30 ooTo 630 \ \-. -\'\
640 F0R ti:tS I0 0 STIP -trsoll|! 0,?0,lo,fltlc|lT ürHI-!4tlt&tlttJ€t€TS:XJ68fIS-lrtF n 6EI5(0 T{ti ||]5tgl$'0
: : l  : :111130,? i :?{6 ' ' r0 id" ;eoLr i ' " ;  \ ; . - .  i i lq$ !\a.  i i j , , - \ö^5Q-i' .  -q lY  ' ' : '  l6io nrrui '\,' 
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670 nä! €lxzAfiLEll
6m s0ütr0 ?,4,l$,{
690 fnR |t.l0 Tli 5 STEP -ttF0n I=15 T0 0 UEp -lrtt X0 0,t,t0,t!ttEfi I|IENT I
700 sqjfi0 2,0,0,0
710 cts '$ßfl1601ß.t{}RGEST EBU':0
i20 ä05u! 650
7J0 PostTroti l4,t!? üalcA$i
740 IF hU66ETS=0 TliE{ p0f ;6010 350
750 nETUn
i6O NEi Htrg IAS HTl| l}Ts TIITEX Eg.TSRAEBERS
770 Fon i.J I0 1 STEP -l
780 lF SHICIll,{)=xPD$ tNt $tticil{l,l).yp0s Tflti Ato
790 ltqfi , t ntniRti
800 ßttr il"ßolD+$ttcäü,2)rB09U! d50
8IO MTNfl
820 nB rl?[!sl[N
€30 lP'Xl0S+ !yp.VP09+VrIF yp=0 TtE{,t40
840 RESIIRI 850
850  0A !A  0 ,0 , - l , - t , l , l , - l , l , l , - . 1
860 Fon I=l I0 5:R[n[ A,8
R70 !F xP+i)d Ail0 Ip+0<=19 Ati! yp+r)=l A{D vp4(.22 titil tocAT€ xp{A,tp+B,lt;trF zz:{5 üfl IUEffTS. IßEEß_I880 II|EJ0 ItC0t0n ]lSC{cHAn4(4t)
89s IF XP):o Altl p{to rRR PLBT l,p,rp
900 cllott Asfie$fint{51}rlF yp)? A[t t{p)0 It€I pLlI lp-t,yp-l
flf If Ip(22 RNII ifü9 Tfi$] !'t.o] Jp{l,rF+t
?20 ltL0R ASC tcrAftt t6) I .IF yp)2 Al| J{p(19 TrieI pl0r lp+l,yF-l
t30 lF lp(?2 A*n tP)0 THEII pt0T xP-l,yp+t
940 SI=PE€( 1560) +23ür?E€li { 54 t } ! SV:piE|( Ul2t
95$ F{1fi ri45 I0 0 sTtp -0.5is!Utt0 0,50,0,[rst:l-gHrtrxE ?12, ss, t4r,t6+si lrtxE 0l,1la6rrdEK c9i0 Pc|(E !1.,lt2!P0|(E 7t2,sv
980 l0l-0R J2:tr }lp).o ütto Ip09 Tlf[ pt0t tp,yt
985 IF yp)? *m Np lflE{ pL0} xp-l,vp-l
t90 If yp(22 ut tgü9 Tim FL0I xp+l,xp+!
1000 lF Yp)? 1lru Xp(19 Tt,|til pt01 )(p+t,yp-l
l0l0 lF YP(22 tilt )i!)0 Ttitrn pi0T tf-t,yp+l
It20 cot 0& l30rPL0T liP0s,./fos
l0J0 ffln I"l l0 20
t040 Rx;w{?ü,,Rfl0{0} ) !ty:tHT{?2*Rt0{01+l}
lc60 t[cATE nX,rV -l ,22
Itr60 L0c*1E Bl(,ny,!!tr ?.32 n{} 7?:171 .titEl [&-0R l?llpLtll Eil nl
1070 IF Z=131 lt1€li ttl0
1080 lltT I
1090 [SAR$€S=CH*nHS-t:p0$llt0lt tB,?i:? {ti$m6EBJ"t
ü00 If tHtn6ts)0 TilE$ 440
ll l0 T].0rüF.l;P0SlTl8$ 9,2t.? {t;"ret oui . i !MT0 t40
l1?0 Rüt TtIgR 6ilii6n{$8ft
i l l( Fün I"l4 t0 ü slEp -ü.5!1iEtt0,0R 3"4,trsolN0 0,LI0,trtExT IrmsI0nE 1,90l1l0 READ t,Xrir t)0 tlEH s0uff! o,A,ll),srFon !.1 I0 |{*2:tt){l Ill50 IF {)0 ltt€fi süü D c,0,0,0tF0R fl,t 1! Srmn *s0T0  {01lÄ0 [01"ßR Atctüt$m{7}t!pt0T xp0s, ypt]sr H{ t c[ (üImR,2):601!:6tX"!ts0r tt|st 8 650l!70 |,lil$l{ I Kll,0} =}l'05r ffi lctt ti]}f,n, t } =!po$. n!ilEFit mn-t s lt itiB:o ti{ltt t?10:Rgt 6M€ ü/€nltß0 P05lü0t t,0t7 It lhlnen;!5!1t0Lm 3,t,10:mTo 1101190 0A1A !00,3{,10{,20,100,5,i00,30,8i"40,90,30,100,;10,105,10,100,10
l?00 $ATA -t,0
l?10 P0SlII0ll 0,$r? tiSi.süe oyer,
l2?0 p0K t09,P[E 53770]
l?I0 IF peg({fi2191o6 ISEN 1?26
1240 Rll 
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Ä lltil {'rtx A$iL!6{HB .r**
90 G0s0B 30000
100 Pff l tT,1'
105 sETüomn ?,3,4
r10 0fi !J0ts{t,H0{59),1{ {59),fi l r59)
120 0E6 !CtlULt"3t0
t& ilcEüT"t60t vcENT'96rLAtt6E.t0:$t$u,:6{
200 605u8 t000
470 Pfttf l '1.160T0 tt |)
490 Pft l i lT'Irh ve.5t! le ni.ht. '
49S InAP 490
5m Pfilili rPniH 'Bitte die Zeit einrlb€nr'
510  PR i | {T ' {S td . , l i r . , 5e* . ) t ' ;
5M I XPU1 }8,'IIII,SET
$0 tnap a55rs
550 rF 118>'2 THEIi Hn=üR-tz
sÄi IF llR(l 0n R)!t $til PftST "StundEn v$ t bi5 12,'r0{lT0 190
570 IF fiIM0 0ß llll{)59 ]lltt PRIlil 'NirutEn von 0 bie 59,'16l}10 4?0
5& lf SEI(o 0n 6EC)5? LiEl PRIlll'Ssturd$ vor 0 bls 59.':t0T0 4t0
590 IF ilR:12 T{Ell tlR=o
580 ti.ll|T{EiI/u) tFIFIHHR{ ü-t?{tüft n:Ms'+t{
690 pBK ?04,SEC:p0t(E ?05,fi1l:P0rc r0Ä,Flmt|iRrP$G 207,[n
7tr0 Ellatiltcs 2{
710 $EIC0L0R 4,7,I
720 SETCIILflR 2,t,8
730 3[TC0L0R t,0,0
7{0 üüLon 1
750 [:ErrJ-4
7Äl foR I=0 T0 f{-l
770 lt.-t00ifincl!*t/ili
780 tl.SIl{CInCL€rl/||)
790 tlol l ) il XT {L{REElH+liCEl{T )
8m vü { I } "l lll {t"AR€E*vfl/cEIT )
010 Pl"0T lflT { lt'! (L&ft&€rsl +tsE*T), t[I I v. {LsR&Er3) lvc T )
8!0 J"J+l:lF J.5 ru|{ DfiAST0 I il{l+t llm6r}2) +ll0EliTl, I lT lW{LtReE+?} ) +lt[Nlr J=0
83{, tll (l}=lilT{StiJ}LL*fi+RCE}dT)
84{ {t{1)=iSTl$AtrrVflCE}iT'
950 t{ExT I
9m SIC=PEE( ( ?04 ) ! Itlli:PEEK 12051: HF+Sn |207]
910 60T0 t?0ü
1C'00 tr[=p€E( {?04J I iI I-PEEX {?06 ) t lfi:FtEX {207J
l0l0 c0L0n 0
ll00 IF 0i-lsql{}LAsTrln n€il FroT Hl {!L0SEN} ' vl iü.ostl} r0Rt$r! m{0[DSCl,V8{0Ul3El)
1ll0 IF üLDllIS=llIll Tli€l{ 1300
l u0 Pt0T c€tl,vtäülHANT0  it t0t,q[],vtll0u,ntfl I !0l!üIt{{lt
1125 I=i,{II/lirlF l=lllT(!} TllEli oUA[Tm"l
ll3{ IF 0t llR(}UR A}it l{lN-0 Tll[tl gulslHi/5tlt CHtif,=0 llffl C!ll6E:l?
llNo lF lll0iln() fi THr|{ PtoT tlCEilT,vClnrDRA{T[ lll(0 m],91l|lL$$ rllt0tß.in
1200 mr0n l
l210 tl0T tlCE||T,t tlHlrlnAm0 llIlHftl,VI(||n)
t220 rl0r CEIIT,VLTITil}näflTo l{0 {ltl) , V{l {llt|l
1300 c0t0i I
t3l0 rF sE[()fitn ß!l{ pr.ol Hli6!c],vt(sEcl!0Rt T0 Ho($!c),vr]tsc)
luo ol0sit.stc: LtiiTüli.fi Ifl
130 SlUliD 0,0,,i, t|! I=t+1r51]uxD 0,0,0,0
l{10 tF cHrfiE}0 Tr{il ll0l=B-l,0Lrs8t}r! l,2t5,l0,v0t!51}uto 2"232,10,tß!tF vtl.,0 ltc|{ clitE DuüE-t
l4?0 ]F &uAnI€R)0 TltE{ WL=8-V0L!Slüil! 1,63,i0,V0trlr V[L'o ll€lt $linlSl=0lilREn-l
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lmo lF PE[x t?01] 4Ec TfiE]l 1800
l8l0 60T0 1000
3000 DAln 42,00,86,C8,Ä5,[8,[9,3r],90,A
r0l0 DATA 86,Ct,E6,CC,A5,rC,C9,tC
1020 t$14 t0,t0,d6,c[,[6,[0,A5,c[
3030 mTA C9,5C,t0,02,8d,C0,86,CE
30i0 0A1A 45,tE,Ct,0C,90,0C,[r,Cr
s050 0ATA f6,tF,A5,Cr,C9,3C,90,02
3({0 DfiA 8d, CF,4C,62, t4, -
4000 0li H){t{zJ
4005 PRIlit ' l .h setz€ |eino l i.er.,. '
{010 J=960rneST0RE 300{
4ta0 nEAIl &\SrlF HXI='+" llilli,1100
t03{ lFAs|tflx$1,, )-t8!tf t{)9 lt€t t'.tf7
401{ l=A!Clllltl2,2))-{8:IF !-)9 n& l=t--t
4050 efiE J,H*l{+Lt;.Jil:6tlT0 {020
41m ru{€ tt286,0:P0{E 548,tt2rp0tc 5{9,trp0|(t 54?.8!,ül
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